1.  Below is the graph of a function 
[image: image28.wmf]y

x


[image: image1.wmf]f


(a)  Find 
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(b)  Find 
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(c)  Find all values c such that 
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2.  Find the limits:
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(b) 
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3. Find 
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4. Find the values at which the function is not continuous.  
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5.  Find the derivative by the limit process:

       (a)  
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(b)  
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6.  Find the derivative of each of the following functions:


(a)  
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(b)  
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(c)  
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(d)  
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7.  Find the slope of the graph of the function at the given point:
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8.  Find an equation of the line tangent to 
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9.  Find the points at which the graph of the function has a horizontal tangent line:
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10.  Find the derivative of each of the following functions:


(a)  
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(b)  
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11.  Find the derivative of each of the following functions

(a)  
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(b)  
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(c)  (To test your understanding of the chain rule).  You read in an article that the derivative of 
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.  Find the derivative of 
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